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Determining If a Proportion Is Correct

1. As shown in the diagram below, AB and CZ intersect at E, and 4C || BD. A

Given AAEC ~ A BED, which equation is true?

1) CE_ZB
DE — R4
2) AR AT
BE ~ BD
3) EC _BE
AR~ ED
4y ED AC
EC T BD

D

B

2. In the diagram below, AQRX ~ ATUV . Which of the following statements is not true?

3. Given that ADEF ~ AHIJ , which is the correct statement about their corresponding

) Ok _0¥
U TV
p 2T
Uuv X0
sides?
y EF _DE
U HI
EF IJ
2) = ==—
HI DE

4. In the diagram below, /A5 ~ M RST .

/X Q0
ZV /T
e TV
OR TU

DE EF
W
J HJ

Which statement is not true?

1) £A4=sR
2) AB_BC
RS~ ST
3) 4B 5T
BC T RS

4) 4B=/S

A

34



5. Scalene triangle ABC is similar to triangle DEF. Which statement is false?
D 4B _DE

BC EF
») 4C_BC
DF EF

3) £ACB= SDFE
4) LABC = LEDF

6. Given right triangle 4ABC with a right angle at C, m<5 = 1°. Given right triangle RST
with a right angle at 7, m<R = 299,
Which proportion in relation to A AFC and /A RST is not correct?

1) 4B _RT 3) BC _ AC
RS AT 5T RT
2) BC _ 4B 4) 4B RS
ST ~ RS AT RT
B R
61°
29°
0\
A C A S

7. In the diagram below, /2227 is the image of A 4B after a clockwise rotation of 180°
and a dilation where 48 =3, BC'= 55, AC=45 DE =6, #0 =19 and £7 = 11.

Which relationship must always be true?
1) ms4

1

oD 2 R . 6
2) msC 2

moF 1 3 45 D
3) mfd  meF B 55 c

il A | s
4) msB  mLl

I E  miF

8. In the diagram below of isosceles triangle AHE with the vertex angle at H, CBLAE and

FO1AR, H
Which statement is always true? F
) AR _EH 3) AB CB C
AT~ EF ED ~ FE
2) AC 4B 4) 4D BE
EF T ED AB T DE
A B D



